27E

1) @X+1)(2X+3)=0

2X+1=0
X=-1/2

2)  4(-1/2)2 + 8(-1/2) +
4(1/4) -4 +
1-4+

3
3
3
0
4(-3/2)2 + 8(-3/2) + 3

4(9/4) - 24/2 + g

3) X+3)(X+4)=0

X+3=0
X=-3

4) (-3)2+7(-3)+12=0
9-21+12=0

0=0

(-4)2 +7(-4) + 12 =0
16-28+12=0

0=0

5) X2+X-12=0

(X +4)(X-3)=0
X+4=0 X-3
X=-4 X

6) (-4)2+(-4)+1=13
16-4+1=13
13=13

(32+@3)+1=13

9+3+1=13
13=13

7) X2-10X + 25

8) X -5
x X -5
-5X + 25

X2 - 5X

X2-10X + 25

0
0
0
0
0
0
0

2X+3=0
X =-3/2

X+4=0
X=-4

9)

10)

13)

14)

15)

16)

17)

18)

19)

20)

4(4%2 - 1)
42X - 1)2X +1)

(X-10)(X +10)

9-25=-16

2-4+4 — 20 =1

X-6-6 = X-12

5MAN2M-1 - 2NM4N3M-1 =
5M3N2 - 2N4M3

8G =100
G=25/2=121/2

7T =200
T =200/7 = 28 4/7

N2 +2N -2

N2 +2N -2 =22
N2 +2N-24 =0
(N+6)(N-4)=0

N=-6 or N=4
15Y - 3X=-18
4Y + 3X =-20
19Y =-38 5(-2)-X=-6
Y =-2 4 =X
(-4, 2)

X+ 2)BX+1)=(X)(3X + 1) + (2)(8X + 1)

28A

1)

n
~

D
=

5)

10)

11)

12)

13)

14

=

15)

16

=

17)

18)

1 foot = 12 inches

feet in numerator to remain in final answer
inches in denominator so they will cancel

‘ 11,
84d. x 2 =71

3 feet =1 yard

yards in numerator to remain in final answer
feet in denominator so they will cancel

63/, x —%‘;dT = 21 yds.

1 foot = 12 inches

inches in numerator to remain in final answer
feet in denominator so they will cancel

12in. .
154 x H = 180in.

4 quarts = 1 gallon

quarts in numerator to remain in final answer
gallons in denominator so they will cancel

25 gdl. x-%;fi = 100 gs.

16 ounces = 1 pound

pounds in numerator to remain in final answer
ounces in denominator so they will cancel

1 b,
272 g4. X rov b 17 Ibs.

4 quarts = 1 gallon

gallons in numerator to remain in final answer
quarts in denominator so they will cancel

52 g, x%%;(; = 13 gal.

28B

1)

6)

7)

10)

11)

12)

13)

14)

15)

16)

17)

18)

1 meter = 100 centimeters

cm in numerator to remain in final answer
meters in denominator so they will cancel

1 kilometer = 1,000 meters

meters in numerator to remain in final answer
kilometers in denominator so they will cancel

200 x "9 _ 260,000 m

1l
1 dekaliter = 10 liters

dekaliters in numerator to remain in final answer
liters in denominator so they will cancel

3,500 ljgefs x 11&'— = 350 dkl

0 ligers
1 liter = 1,000 milliters

liters in numerator to remain in final answer
milliliters in denominator so they will cancel

= 67 i
67,000 i x 7000 7 67 liters

1 hectoliter = 100 liters

liters in numerator to remain in final answer
hectoliters in denominator so they will cancel

100 liters

4.517(X T

= 450 liters

1 gram = 10 decigrams

grams in numerator to remain in final answer
decigrams in denominator so they will cancel

1 -
790 9§ X—_g_w;ié =79¢

98¢ - /¢ suonnjos



28C

1) 12inches =1 foot

4)

5)

6)

o

8

-~

10)

11)

12)

13)

feet in numerator to remain in final answer
inches in denominator so they will cancel

3 feet= 1 yard

yards in numerator to remain in final answer
feet in denominator so they will cancel

244 x-ls—% = 8 yds.

16 ounces = 1 pound

pounds in numerator to remain in final answer
ounces in denominator so they will cancel

1 Ib.
3294. X 60f - 2 Ibs.

4 quarts =1 gallon

gallons in numerator to remain in final answer
quarts in denominator so they will cancel

28 g. x 4(% = 7 gal.

X-3 R4
X-2|X2- 5X +10
-(X2 - 2X)

-3X + 10
-(-3X + 6)

4

14) X -2
x X -3
-3X +6

X2 -2X

X2-5X+ 6
+ 4

X2 - 5X +10

15) (3X+1)(X+3)
X=-1/3, X=

16) 3(-1/3)2 + 10(-1/3)
3(1/9) - 10/3

B

3(-8)2 + 10(-3) +
27-30 +

17) 2X2-6X+10=230
2X2-6X-20=0
2(X2 -3X -10) = 0
(X-5)(X+2)=0
X=5 X=-2

18) 2(5)2 - 6(5)+ 10 =30
50 -30+10 =30
30 =30

19) 10Q = (.20)(25)
10Q =5
Q=1/20r .5

20) AD =BC

28D

=

)

7)

8)

9)

10)

11)

12)

13)

12 inches = 1 foot

inches in numerator to remain in final answer
feet in denominator so they will cancel

5, 280 feet = 1 mile

feet in numerator to remain in final answer
miles in denominator so they will cancel

3pf. x 5280“ = 15,840 ft.

2000 Ibs. = 1 ton

pounds in numerator to remain in final answer
tons in denominator so they will cancel

6 foffs x 2000 12,000 Ibs.

1 torl
2 pints = 1 quart

pints in numerator to remain in final answer
quarts in denominator so they will cancel

2pt. _
25 g6, x ol 5 pt.

(2X-5)(X +1) =
X=5/2, X=-

14) 2(5/2)2 - 3(5/2) - 5 =
25/2-15/2-5 =
0=

oco®

1) -

2(-1)2-3(-1)- 5
2+3-5
0

mnnn
oo

15) (83X +2)(X +2)
X =-213, X=-2

16) 3(-2/3)2 + 8(-2/3) + 4 =0
4/3-16/3 +4 =0
0=0

3(-2)2 +8(-2) +4=0
12-16+4=0
0-0
17) 3(Y2-4)=0
3(Y-2)(Y +2)=0
Y=2, Y=-2
18) 3(2)2-12=0
0=0
3(-2)2-12=0
0=0
19) x = 85mi . SM o5
4 1
20) x = 5mi . 8K oo
15 1

dse - 08¢ suonnjog



28E 29A 29B
1) 12inches =1 foot 14) 2(3/2)2 + (3/2) -6 =0 1y A 2 A2in 0 1y T 20 20 oneia
92+3/2-6=0 ) 3 14 15 ' 3 14 14 ' '
0=0
. . 342 100cm _ 100cm
2) inches in numerator to remain in final answer 2(-2)2 +(-2)-6=0 2) 242 yJ2in o 12in. 288 in.2 2) T X A X A = 30,000 cm?
feet in denominator so they will cancel 8-2- 8 = 8 1 1574 54 :
- g BEE L 12in 12in oo
1ye?  3ft 3t 5 1 14 4
12in 3) ] X Tvd X 'y = g1t
3) 7,920 x ”/‘ = 95,040 in. : : 2 15H2 | 120 12in. _ oo,
‘ ye8 36 ! 1 X .
1 ye in. 36 in. 36 in.
15) 5(b2-25)=0 4) X X X
, 5(B-5)(B +5)=0 i Ty "1yl T 5) 8“1"‘& x 1?}'“ x '?}m x 1?}"‘
4) 2,000 pounds = 1 ton B=5 B=-5 -
= 46,656 in. = 8,000 dm3
) o8 12in 12in 12in 6 kB 1000 m 1000 m 1000 m
5) tonsin numerator to remain in final answer 5) S % - % . ) 3 X T X T W X W
pounds in denominator so they will cancel 16) 5(5)2-125=0 1 04 1M 14
5(25) - 12%:(()) = 3456 In3 = 3,000,000,000 m3
5(-5)2- 125 =0 / 7 5.643 x2in o 12in.  12in.
1 ton 1 1M )4 1M
6) 10,000 5. x So00 5. = 5tors 5(25) - 125 =0 6 8 pr? 10mm 10mm _ g0 o ¢ M 4
2000 pE. 0=0 1 Toh “Toh = 9,676.8in.3
248 12in. 12in. 12 in.
; ; 8) X X X
7) 16 ounces = 1 pound , 7) QW2 36in | 36in. _ 4 eesino 1 [ Y SR 4
! Tvd "1 =3,456in.3
17) 6X2-6X-72=0 1 2 280 ft 7 yds.3 36in. 36in. 36 in.
8) ounces in numerator to remain in final answer 6(X2-X-12)=0 8) Tﬂ x518;ﬂ' x51mf' = 27,878,400 t2 9) 1 X 148 X v X yv;
pounds in denominator so they will cancel 6(X-4)(X+3)=0 . . . . . :
X=4, X=-3 ~ =326,592in.3
g) 1008 tyd L 1yd _ yy4yig2 10) Ao 5280/ | 52804 52804
1 3 3
16 oz. 1 1 . 1 gl 1.
9) 5 x—22 = 800z
TIpe 18) 6(4)2 - 6(4) + 18 = 90 12in.  12in.  12in.
6(16) - 24 + 18 = 90 10) Syd? 3t 3 asq2 4 4 04

90=90 1 Tyd. “ 1

' = 1,017,400,000,000,000 in.3
6(-3)2 - 6(-3) =+ 18 = 90

10) 2 pints = 1 quart

6(9) +18+18=90 ' i :
300§  1mi. _ 1mi ) 370 1m 1m 1m
90=90 11 X = .00001 mi.2 11) X X X
) T *52804 *5280 40 (roundg;) 1 "100¢h 100 oA ~ 100 o
11) pints in numerator to remai'r: in ﬁr_lual ansm{er = .00037 m3
quarts in denominator so they will cancel 950  1m im
i ori 12) = T R T .095 m2 12) 8o 1m . 1m _ —
19) T =?ﬁ; 1 100 ¢~ 100 oA
r. 0 nrs.
12) 13 Qé X 2pt_ = 26 pt. 13) 43,560 ft.2 13) 2 3ores X4__3’560 ft.2 = 87.120 ft.2
14 5X=6, X=12 1 e ) .
R =12 mph _
P st Sl il 14) 4ft.x4 1t x8 1t =128 13
13) (2X-3)(X+2)=0 ) 15) 273 2yads  27#3 4
: 16) 9 ft2 2 yards 9ft2
16 = 182
) T " 1 yard
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